CLASS24

Arithmetic Progressions

# Look at the st of mmbers 1,35, 7.........

» Each of the mupbers m the bst s called atenn

» Anarithme e progression s a Ist of mumbers i wluch each terin 1 obtamed by adding a
fved mumber to the precedmg term except the st temw

# This fixed munber is ealled the common dillference of the AP. It can be positive, pepative or
810

# The peneral form ofan AP s @ . a +d.a+~2d a+3d .

~ An AP with fmite mmber of termms 5 a finte AP Tlat means the AP lias a last temm

~ An AP which does not have finte number of terms 15 an utfingte AP That means the AP does
not lave a list terme 0™ tern of an AP

Let @p, @s s ... Be an AP whose st term oy s a and e conmeon difference s d.
Then,

The Second tenn @y=n =g f2—Id

The third tern dy—at> o —fatd td=a- =g+ {3-1)d

The fourth term M= - fat+ Jd)ea =g s dd =0 ~(4=-1)d

S50, the n™ term iy of the AP with st term ¢ and common difference & is given by a, =a +
{m—1)d

Sum on n terns m an AP;
The sum of the first # terms of an AP is givenby 5= E [2a+ (n— 1)d]
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